e . AR
Roll No. e g s < 8

No. of printed pages : 8

130 430 (IGV)
2023
WA faemm (Jigf<e)

CHEMISTRY (Theory)
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Bder:() 9 v o A ot 28 e &| el e siferd 7
Directions : There are in all 28 questions in this question paper. All questions are
compuisory.
(i) et & FeiRa 3id 376 aws sifed &
Marks alloted to the questions are mentioned against them.
(jii)  SINeD I B EAYGSD Ul TN TR IR aifote|
Read each question carefully and answer to the point.
(iv) 2T T 1 Sgfaamedrd Te &1 391 999 & I WUS & R W IR fadbed fad e
&1 e fasea s sRyRaeT § fofau | e wwean 2 & 7 a6 Hivaa 3ok weH
gl

Question No. 1 is multiple choice question. Four options are given in

answer of each part of this guestion. Write correct option in your answer
book. Question No. 2 to 7 are definite answer type questions.

(v) Wo ST 1 &1 Y WUS U 37 bl &1 T T 2 | 7 A U 31 & U 2
Yo T 8 | 17 e @l 31 & WY &1 W AT 18 ¥ 25 % A 3 &b UeH
& vo G 26 28 T TR 3D S UL &
Each part of Question No. 1 carries one mark. Question No. 2 to 7 are of
one mark each. Question No. 8 to 17 are of two marks each. Question
No. 18 to 25 are of three marks each. Question No. 26 to 28 are of four
marks each. ~

(vi) 39 99-07 8 THY R PIS [Jeped 81 & Tty Hicud J2=1 § AR [abed
fopar wam 21 0wl | Sae v fadeT 1 & 7R aifoul

There is no overall choice in this question paper, however, an internal
choice has been provided in few questions. Attempt only one of the given

choices in such questions.

(1] [ P.T.O.
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1. (%) =19 59 9 Peree &

(i) T (i) e
(i) b (iv) 39 QDI T8I
Iri the foilowing the Lyophilic colloid is-
(i) Milk (i) Gum
(iii) Blood (iv) None of these
(@) affaens & ves-
(i) il (i) SRR
(iii) gReRrEN (iv) QSR
Penicillin is an-
(i) Antibiotic (i) Antipyretic
(iii) Antiseptic (iv) Analgesic
() T feTfm o o 3 <l o drar &7
(i) faefm=a (iy faef=B
(i) = c (iv) [ae= D
Deficiency of which vitamin causes nightblindness disease?
(i) Vitamin A (ii) Vitamin B
(ii) Vitamin C (iv) VitaminD
(7) oo o1 efreT Ueepteier # aRafcr o s 8-
(i) sacaq (i) ST
(i) AT (iv) THSee 9
Glucose is converted into Ethyl Alcohol by-
(i) Invertase (i) Zymase
(iii) Maltase (iv) Amylase
(&) =4 3 o= befem ferom & srafa s=ar &2
() ofafts sme (i) IZd 37T
(i) 3irAfe® 3reT (iv) BIH® 37
Which of the following reduces Fehling solution?
(i) Acetic Acid (i) Benzoic Acid
(iii) Oxalic Acid (iv) Formic Acid
(T) 370D W IR 3rfedt daermar & -
(i) e (ii) eI
(i)  3TIITD (iv) 399 9 IS Fa81
The impurities present in the ore is called-
(i) Slag (i)  Flux
(ii) Gangue (iv) None of these
430 (IGV) (2]
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(B) -6 FT UheTd - 1
(i) ofdena (i) Sde
(i) TR (iv) doerdeH
The monomer of Nylon-6 is-
(i) Ethylene (i) Propene
(i) Styrene (iv) Caprolactum
(37) weret faera o & fort foovar & v Wt o <ed & 1
(i) T@m™E & 1000 39 & (i) U eiex e o
(i) TP e} foaras o (iv) oo & 22.4 tlex &

A Molal solution is one that contains one Mole of a solute in-
(i) 1000 gram of the solvent (ii) One litre of the solution

(i) One litre of the solvent (iv) 22.4 litres of the solution
R wrm wike: | 1
ERIRISEAR-CRNC i k- SN & GHRUT BTl &
Fill in the blank:
The solubility of a gas in a liquid is directly proportional to the ........... of the gas.
aﬁﬁmzm—mzﬂzaﬁaﬂﬁaaﬂml 1
Write the molecularity of reaction 2HI - H kol
O,, U 59T JHIIIPRD Bl ke fopaT o st &2 1
Why does O, act as a powerful oxidising agent?
K,[Fe(CN),] # Fe & sifaiiaor ey @ &7 1
What is the oxidation number of Fe in K,[Fe(CN).]?
VeSTeT O BT RIS FHieoT e 1

Write chemical reaction of Aldol Condensation. _
éﬁqgmﬁanmﬁﬁﬂéﬁq%ﬁmﬁ%‘? baa IaE s
forfae| 1
How chiorobenzene is prepared from Benzene Diazonium Chioride? Write
chemical reaction only.
eica! a1 31k thdver A ¥ 3R W S| 2
Differentiate between Schottky defect and Frenkel defect.
HTETROT g1 mmﬁusﬂ?wmﬁamaﬁm@aﬁmm
mmaﬁqﬁrmmﬁmﬁmﬁaﬁ@ﬁmml 2
Explain simple cubic, body centred cubic and face centred cubic unit celis and find
the total number of atoms per unit cell of each.

3RYAT/OR

430 (IGV) [3] [P.T.O.

Downloaded from cclchapter.com



U cd DI DISHT DI TXTHT 3id: Bivad BT (bee) B BDIae! & BR B oS 288
pm & T dcd &1 09ed 7.2 g/cm® &1 39 dcd & 208 T ¥ fose wRamo] JufRer &2
An element has a body-centred cubic (bcc) structure with a cell edge of
288 pm. The density of the element is 7.2 g/cm?. How many atoms are present
in 208 g of this element?

10. FfoReg w Gfera ot foRae- 1x2=2
Write short notes on the following-
(®) U wra fafér (F) e

Froth floatation Method Flux

11. 9RE & foga smwes & Fm faRael 2
State the Faraday's Laws of electrolysis.

12, AATEAS 3R TGRS B Uh-Udh 3aTEXVT Afed THEET | 2

Explain homopolymer and copolymer each with an example.

13. [NiCl,]-23FgRo &, STaics [Ni(CO),] Sfgredra &, ey et Tgssem)

[NiCl, ] is paramagnetic, while [Ni(CO),] is diamagnetic, though both are
tetrahedral. Why?

3R[A1/OR
Fr=feRaa o ve-ve 3ereRor gfed gasE- 1x2=2
Explain the following each with an example-
() o THgTaan (F) TP THGAGAT
: Geometrical Isomerism Optical Isomerism

14, FfoRaa & seiag e o= fefRae- 1x2=2
Write down the electronic configuration of the following-
() Lr*e (&) Cut :

15. FERISSI H IURYT FeIRIA AT, BRIe FeiRTes 3 ufRend ek o] &) 3 &8
foparenia &ren &, TP 2

Why Chlorine atom present in Chlorobenzene is less reactive than Chlorine atom

present in Ethyl Chioride?
16. I TUT WRET TTHSTS H 3R T BT 2

Differentiate between Soap and Synthetic Detergents.

430 (IGV) [4]

Downloaded from cclchapter.com



| AT

18.

9.

20.

x3.

=1 Tt sififsar & Ronfafer fefaw - 2

Write down the mechanism of the following chemical reaction-
|

Nu:+ R—C———X———>@ 5K
lll 3d1e (Product)

Frefaiaa vel & aRunfta Sifse- 1x3=3

Define the following terms-

(B) AT (@) AERar () AT TS

Normality Molarity Molar fraction

3YdI/OR ;

4 TTH BIRCH ST (VIR 40) BT 3767 § DaaR 200 I ferae = 71| Reos &

HITedT 3R a0 &1 91e g4Tst 31 & 3

4 gm of caustic soda (molar mass 40) is dissolved in water to prepare 200 gm

of solution. Calculate the molality of the solution and molar fraction of the

solute.

FrfeRaa o sRor gfza Taeme-
Explain the following with reason-

(&) TOTES Tp 2

Lanthanoid Contraction
(@) d-iid & ded TN 3O g9 & 1
d-block elements form coloured ions.
e & BRoT wfed SR Hismw- 1x3=3
Explain the following with reason-
() e (@) fCusa yurg (M e
Coagulation Tyndal Effect Dialysis
1 EXT & 519 (BaeT IR GeeRor fafae) - 1x3=3
What happens when (Write chemical equation only) -
(@) efreT UebreTeT &t fosam ek &) JuRRerfy & smeidH & v &
Ethyl Alcohol is treated with Iodine in presence of Alkali.
() TFERIBIE DT B Tl ASaH EESaRs $ e & & 7 o= &)

Chloroform is heated with the solution of Phenol and Sodium Hydroxide.

430 (IGV) [5] [P.T.O.
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(1) e VeiEd @1 O 3R B Y T B £
Ethy! Alcohol is heated with Acetic Acid.

99 W,mﬁmmﬁwﬁwwﬁfawwml afera
st & wremate e o farae 3

Describe any one method for the identification of primary, secondary and tertiary
amines. Write the chemical equations also for the reactions involved.

23, PRI Aed THIISE b p-ﬁﬁﬁ%ﬁﬁ%ﬁﬁ@ﬁﬁwmﬁmﬁﬁaﬁaﬁw
1 uRafda 8 &- 1x3=3
Explain with reason how the following properties of p-block elements trend
while moving from left to right in a period-

(&) wRu] BT (@) 3T St () ToRId oS
Atomic radius Ionisation energy Electronegativity
3Rdi/OR
Fr=feied & BRI aif5Te- 1x3=3

" Give reasons of the following-
(@) H,07%d & 5l 4,5 ¥ &I
H,0O is liquid while H,S is gas.
(@) PP PCl, S & STl AggIs NCI, Tei &1 ¢
Phosphorus forms PCI, while Nitrogen does not forms NCl,.
(M) CI~ 375 &1 3TBR Cl TRATT] A §97 &l &

The size of CI™ ion is greater than the size of Cl atom.

24, (&) q\%ﬁaﬁﬂﬁgwqﬁmﬁm@ﬁwwﬁ%\m 2
Differentiate between nucleosides and nucleotides.
(@) DNA 3R RNA H U 1= §arse| 1
; Give one difference between DNA and RNA.
25. (&) BERE S o o farael 1
State Kohlraush's Law. ‘
(@) ﬁmﬁaés%uzsocwﬁgamaa(e.m.f.)a%maﬁ%v- 2

Calculate the electromotive force (e.m.f.) of the following cell at 25°C-
Zn|Zn*? (0.01M)||Ag*(1.0M)|Ag
E0 =1.56V (at 25°C)

cell

312E1/OR
430 (IGV) [6]
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®) A% THmRr faRae| 1
Write the Nernst Equation.
(@) =1 Jet & foe, e sffsant forRae- 2
Write cell reactions for the following cells-
() FelFe #{[H 5@ [ (Pt)
(i) (Pt)H,IHCI || CL(Pt)
26. () o BifE B Ffichan & fore wTBierT 3 el &) gty S| 3

Derive the integrated rate equation for the first order reaction.

(W) P 5 Hifc B 3iffosan &1 9 ReRie 2.31x10-5 Fe' & s‘ﬁaﬁ%ma?rmmq
S1d Bifoe|

A first order reaction has rate constant 2.31x10-5 sec-!. Calculate the
half-life of the reaction.

31251/ OR
(@) iz Sifsre & wem i B sififtsar & 999 aifufsar qof 29 % wvm w92, 90%
3if¥richaT quf 8 ¥ o1 ey o g gt 2 2

Prove that the time required for 99% completion of a first order reaction is
twice the time required for the completion of 90% reaction.

(@) e sifdifear &1 gug figra oikae| » 2
Write Collision Theory of Chemical Reactions.

27. WeHRe 31t & T o sl faftr &1 i o wfea aofs e qeon Gefta
g sttt foReaw| wewgRe et & &1 3wt o saE) 4

Describe Contact method for the manufacture of Sulphuric acid with labelled
diagram and write the chemical reactions involved. Give two uses of Sulphuric

acid also.

3Adi/OR
mﬂﬁm%sﬁzﬁﬁmﬁﬁw%mmwvﬁawﬁaﬁ%ﬁwméw
T sitHoant & T o e 3

Describe Haber's process for the manufacture of Ammonia with diagram
and write the chemical reactions involved during the process.

) T BT & 379 d1Y B TRA A GergRes 31wt & fpan awrg &7 1

What happens when copper is treated with hot concentrated sulphuric acid.

430 AGV) [7] [P.T.O.

Downloaded from cclchapter.com



28. () TP B S A (IURGF C,H,0) i 3iiraHe & I fovan 7ai axar €, foog
YT B W AMRS B (C,H,0) §1aT &l HfiE B & HBr & fohan aRM W
SHEE  C §9aT &, S Uehlaiieis KOH  fsam axeb BewbiM D (C,H,) STl &1
I A, B, C AT D &I UeTH 3Maead Ia-is Jfufpansi afed el 3

An organic compound A (molecuiar formula C;H,O) does not react with

Tollen's reagent but on reduction gives compound B (C,H,0). Compound
B, on treatment with HBr, gives Bromide C, which on treatment with
alcoholic KOH gives Alkene D (C,H,). Identify compounds A, B, C and D
with essential chemical reactions.

(@) MeaH-or fifiar @ Imaf=e e it faRae| 1
Write down the Gattermann-Koch reaction with chemical equation.
Rdi/OR
=1 It weiieReT ® Rep wirHl § v 3emel @ 396 AT 3R I 9 aiea
feriRae- 1x4=4

In following chemical equations, write down the products obtained with their
names and chemical formulae in the blank spaces - '

0
(F) [ H, P/ BaSQiaigie, 1+
HE=C=0 ™ 555 Sisaill
Boiling Xylene

g , . COOH
KOH, CH,I
N ! ' e
(@) / H301L i
c ~ COOH

Kk Xk %k K

- 430 (IGV) [8]
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